Homework Math 140

Lecture 13, 14

Will be Quizzed on April 4

This homework contains copyrighted material from James Stewart, Calculus, 7th edition, 2012. You are
not permitted to copy this file for any purpose other than completing your homework. You are not allowed
to give a copy of this file to anyone outside of our course.

Problem 1 (Textbook, page 154, 7-46). Compute the derivative.

1. f(z) = (a* + 322 — 2)°.
2. f(z) = (4o — 2?)'00,
3. flz)=+1-2x.

4o f(@) = tsecay
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f (@) = cos(a®
8. f(z) =d®+ cos®z.
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10. f(0) = 3cotnb.

11. f

12. g(z) = (2® +1)3(2? +2)8
18. h(t) = (t +1)%/3(2t2 —
14. F(t)= (3t —-1D*2t+1)73

Problem 2 FEzxpress Z—y

1. 23+ =1.

S 2T+ Yy =3.

L2 oy —y? =4
=2.

wtz+y) =2 Bz —y).
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4. 223 + 2%y — xy®
5
6

Y 4 2%yt =1+ 2y,

x) = 2z — 3)* (2% + x + 1)°. 24.

15. F(z) = (;2t})3.
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16. f(s) =

17. f(s) = sin(x cosz).

18. f(x) = T

19. f(2) = /55

20. Gly) = 5
21 y(r) = =
22. [(2) = Grmsteonma-
23. f(z) =sinV1+22.
7) = (357)
25. f(x) = sin(tan 2z).
1)3. 26. f(x) = sec?(md).

7. ycosx = x2 + y2.

8. cos(zy) =1+siny.

9. 4coszsiny = 1.
10. ysin(z?) = zsin(y?).

11. tan (5) =z+y.

27. f(z) = sec? x + tan® z.
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35. f
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40.
as a function of x and y by implicit differentiation.
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. f(z) = wsin

1
1—cos 2z 4
f(I) = (1+Cos2w> :

1) =/ata

£(8) = cot(sin 6).
f(z) = (ax + V22 +b2) 2
fl@) = (@ + (1 - 32)°)°.
f(x) = sin(sin(sin z)).
fz)= e+ e
fl@) =z + o+ x.
F(x) = (2rsinra + n)?.
f(x) = cos’(sin® z).

f(x) = cos

f(z) = (z + (z + sin® x)3)4.

sin(tan7x).

vty =1+
VTY =14 2%y.
rsiny + ysinz = 1.
ycosz = 1+ sin(zy).

tan(z —y) = hEJT

Problem 3 Use implicit differentiation to find an equation of the tangent line to the curve a the given point.

1. ysin2x = xcos2y, (w/2,7/4).
2. sin(z +y) = 2z — 2y, (m, ).
3. 22 +xy+y* =3, (1,2) (ellipse).

perbola).

5. 22 +y? = (222 +2y% —1)?,

4. 2?2+ 2zy —y* +x =2, (1,2) (hy- 6.
7.
0,1/2). &

2?3 4y =4, (-3V/3,1).
2(2% +y?)? = 25(22 — y?), (3,1).
yQ(yQ - 4) = xQ(xQ - 5); (Oa _2)



